
𝐷1𝐷2 =∑{
𝜕𝑔

𝜕𝑞𝑖

𝜕

𝜕𝑝𝑖
(
𝜕ℎ

𝜕𝑞𝑘

𝜕 ∗

𝜕𝑝𝑘
−

𝜕ℎ

𝜕𝑝𝑘

𝜕 ∗

𝜕𝑞𝑘
) −

𝜕𝑔

𝜕𝑝𝑖

𝜕

𝜕𝑞𝑖
(
𝜕ℎ

𝜕𝑞𝑘

𝜕 ∗

𝜕𝑝𝑘
−

𝜕ℎ

𝜕𝑝𝑘

𝜕 ∗

𝜕𝑞𝑘
)} 

=∑{
𝜕𝑔

𝜕𝑞𝑖

𝜕

𝜕𝑝𝑖
(
𝜕ℎ

𝜕𝑞𝑘

𝜕 ∗

𝜕𝑝𝑘
) −

𝜕𝑔

𝜕𝑞𝑖

𝜕

𝜕𝑝𝑖
(
𝜕ℎ

𝜕𝑝𝑘

𝜕 ∗

𝜕𝑞𝑘
) −

𝜕𝑔

𝜕𝑝𝑖

𝜕

𝜕𝑞𝑖
(
𝜕ℎ

𝜕𝑞𝑘

𝜕 ∗

𝜕𝑝𝑘
) +

𝜕𝑔

𝜕𝑝𝑖

𝜕

𝜕𝑞𝑖
(
𝜕ℎ

𝜕𝑝𝑘

𝜕 ∗

𝜕𝑞𝑘
)} 

=∑{
𝜕𝑔

𝜕𝑞𝑖

𝜕2ℎ

𝜕𝑝𝑖𝜕𝑞𝑘

𝜕 ∗

𝜕𝑝𝑘
+
𝜕𝑔

𝜕𝑞𝑖

𝜕ℎ

𝜕𝑞𝑘

𝜕2 ∗

𝜕𝑝𝑖𝜕𝑝𝑘
−
𝜕𝑔

𝜕𝑞𝑖

𝜕2ℎ

𝜕𝑝𝑖𝜕𝑝𝑘

𝜕 ∗

𝜕𝑞𝑘
−
𝜕𝑔

𝜕𝑞𝑖

𝜕ℎ

𝜕𝑝𝑘

𝜕2 ∗

𝜕𝑝𝑖𝜕𝑞𝑘

−
𝜕𝑔

𝜕𝑝𝑖

𝜕2ℎ

𝜕𝑞𝑖𝜕𝑞𝑘

𝜕 ∗

𝜕𝑝𝑘
−
𝜕𝑔

𝜕𝑝𝑖

𝜕ℎ

𝜕𝑞𝑘

𝜕2 ∗

𝜕𝑞𝑖𝜕𝑝𝑘
+
𝜕𝑔

𝜕𝑝𝑖

𝜕2ℎ

𝜕𝑞𝑖𝜕𝑝𝑘

𝜕 ∗

𝜕𝑞𝑘
+
𝜕𝑔

𝜕𝑝𝑖

𝜕ℎ

𝜕𝑝𝑘

𝜕2 ∗

𝜕𝑞𝑖𝜕𝑞𝑘
} 

=∑{(
𝜕𝑔

𝜕𝑞𝑖

𝜕2ℎ

𝜕𝑝𝑖𝜕𝑞𝑘
−
𝜕𝑔

𝜕𝑝𝑖

𝜕2ℎ

𝜕𝑞𝑖𝜕𝑞𝑘
)
𝜕 ∗

𝜕𝑝𝑘
− (

𝜕𝑔

𝜕𝑞𝑖

𝜕2ℎ

𝜕𝑝𝑖𝜕𝑝𝑘
−
𝜕𝑔

𝜕𝑝𝑖

𝜕2ℎ

𝜕𝑞𝑖𝜕𝑝𝑘
)
𝜕 ∗

𝜕𝑞𝑘

+
𝜕𝑔

𝜕𝑞𝑖

𝜕ℎ

𝜕𝑞𝑘

𝜕2 ∗

𝜕𝑝𝑖𝜕𝑝𝑘
+
𝜕𝑔

𝜕𝑝𝑖

𝜕ℎ

𝜕𝑝𝑘

𝜕2 ∗

𝜕𝑞𝑖𝜕𝑞𝑘
− (

𝜕𝑔

𝜕𝑞𝑖

𝜕ℎ

𝜕𝑝𝑘
+
𝜕𝑔

𝜕𝑝𝑖

𝜕ℎ

𝜕𝑞𝑘
)

𝜕2 ∗

𝜕𝑝𝑖𝜕𝑞𝑘
} 

𝐷2𝐷1 =∑{
𝜕ℎ

𝜕𝑞𝑖

𝜕

𝜕𝑝𝑖
(
𝜕𝑔

𝜕𝑞𝑘

𝜕 ∗

𝜕𝑝𝑘
−

𝜕𝑔

𝜕𝑝𝑘

𝜕 ∗

𝜕𝑞𝑘
) −

𝜕ℎ

𝜕𝑝𝑖

𝜕 ∗

𝜕𝑞𝑖
(
𝜕𝑔

𝜕𝑞𝑘

𝜕 ∗

𝜕𝑝𝑘
−

𝜕𝑔

𝜕𝑝𝑘

𝜕 ∗

𝜕𝑞𝑘
)} 

=∑{(
𝜕ℎ

𝜕𝑞𝑖

𝜕2𝑔

𝜕𝑝𝑖𝜕𝑞𝑘
−

𝜕ℎ

𝜕𝑝𝑖

𝜕2𝑔

𝜕𝑞𝑖𝜕𝑞𝑘
)
𝜕 ∗

𝜕𝑝𝑘
− (

𝜕ℎ

𝜕𝑞𝑖

𝜕2𝑔

𝜕𝑝𝑖𝜕𝑝𝑘
−

𝜕ℎ

𝜕𝑝𝑖

𝜕2𝑔

𝜕𝑞𝑖𝜕𝑝𝑘
)
𝜕 ∗

𝜕𝑞𝑘

+
𝜕ℎ

𝜕𝑞𝑖

𝜕𝑔

𝜕𝑞𝑘

𝜕2 ∗

𝜕𝑝𝑖𝜕𝑝𝑘
+

𝜕ℎ

𝜕𝑝𝑖

𝜕𝑔

𝜕𝑝𝑘

𝜕2 ∗

𝜕𝑞𝑖𝜕𝑞𝑘
− (

𝜕ℎ

𝜕𝑞𝑖

𝜕𝑔

𝜕𝑝𝑘
+

𝜕ℎ

𝜕𝑝𝑖

𝜕𝑔

𝜕𝑞𝑘
)

𝜕2 ∗

𝜕𝑝𝑖𝜕𝑞𝑘
} 

𝐷1𝐷2 − 𝐷2𝐷1 =∑{(
𝜕𝑔

𝜕𝑞𝑖

𝜕2ℎ

𝜕𝑝𝑖𝜕𝑞𝑘
−
𝜕𝑔

𝜕𝑝𝑖

𝜕2ℎ

𝜕𝑞𝑖𝜕𝑞𝑘
)
𝜕 ∗

𝜕𝑝𝑘
− (

𝜕𝑔

𝜕𝑞𝑖

𝜕2ℎ

𝜕𝑝𝑖𝜕𝑝𝑘
−
𝜕𝑔

𝜕𝑝𝑖

𝜕2ℎ

𝜕𝑞𝑖𝜕𝑝𝑘
)
𝜕 ∗

𝜕𝑞𝑘

+
𝜕𝑔

𝜕𝑞𝑖

𝜕ℎ

𝜕𝑞𝑘

𝜕2 ∗

𝜕𝑝𝑖𝜕𝑝𝑘
+
𝜕𝑔

𝜕𝑝𝑖

𝜕ℎ

𝜕𝑝𝑘

𝜕2 ∗

𝜕𝑞𝑖𝜕𝑞𝑘
− (

𝜕𝑔

𝜕𝑞𝑖

𝜕ℎ

𝜕𝑝𝑘
+
𝜕𝑔

𝜕𝑝𝑖

𝜕ℎ

𝜕𝑞𝑘
)

𝜕2 ∗

𝜕𝑝𝑖𝜕𝑞𝑘
}

−∑{(
𝜕ℎ

𝜕𝑞𝑖

𝜕2𝑔

𝜕𝑝𝑖𝜕𝑞𝑘
−

𝜕ℎ

𝜕𝑝𝑖

𝜕2𝑔

𝜕𝑞𝑖𝜕𝑞𝑘
)
𝜕 ∗

𝜕𝑝𝑘
− (

𝜕ℎ

𝜕𝑞𝑖

𝜕2𝑔

𝜕𝑝𝑖𝜕𝑝𝑘
−

𝜕ℎ

𝜕𝑝𝑖

𝜕2𝑔

𝜕𝑞𝑖𝜕𝑝𝑘
)
𝜕 ∗

𝜕𝑞𝑘

+
𝜕ℎ

𝜕𝑞𝑖

𝜕𝑔

𝜕𝑞𝑘

𝜕2 ∗

𝜕𝑝𝑖𝜕𝑝𝑘
+

𝜕ℎ

𝜕𝑝𝑖

𝜕𝑔

𝜕𝑝𝑘

𝜕2 ∗

𝜕𝑞𝑖𝜕𝑞𝑘
− (

𝜕ℎ

𝜕𝑞𝑖

𝜕𝑔

𝜕𝑝𝑘
+

𝜕ℎ

𝜕𝑝𝑖

𝜕𝑔

𝜕𝑞𝑘
)

𝜕2 ∗

𝜕𝑝𝑖𝜕𝑞𝑘
} 

 

∴  (𝐷1𝐷2 −𝐷2𝐷1)𝑓 = 

∑{(
𝜕𝑔

𝜕𝑞𝑖

𝜕2ℎ

𝜕𝑝𝑖𝜕𝑞𝑘
−
𝜕𝑔

𝜕𝑝𝑖

𝜕2ℎ

𝜕𝑞𝑖𝜕𝑞𝑘
−
𝜕ℎ

𝜕𝑞𝑖

𝜕2𝑔

𝜕𝑝𝑖𝜕𝑞𝑘
+

𝜕ℎ

𝜕𝑝𝑖

𝜕2𝑔

𝜕𝑞𝑖𝜕𝑞𝑘
)
𝜕𝑓

𝜕𝑝𝑘

− (
𝜕𝑔

𝜕𝑞𝑖

𝜕2ℎ

𝜕𝑝𝑖𝜕𝑝𝑘
−
𝜕𝑔

𝜕𝑝𝑖

𝜕2ℎ

𝜕𝑞𝑖𝜕𝑝𝑘
−
𝜕ℎ

𝜕𝑞𝑖

𝜕2𝑔

𝜕𝑝𝑖𝜕𝑝𝑘
+
𝜕ℎ

𝜕𝑝𝑖

𝜕2𝑔

𝜕𝑞𝑖𝜕𝑝𝑘
)
𝜕𝑓

𝜕𝑞𝑘
}⋯(5.2.3 − 3) 

 

さらに、（8）式左辺第一項について 

{𝑓{𝑔ℎ}} =∑{
𝜕𝑓

𝜕𝑞𝑖

𝜕

𝜕𝑝𝑖
(
𝜕𝑔

𝜕𝑞𝑘

𝜕ℎ

𝜕𝑝𝑘
−

𝜕𝑔

𝜕𝑝𝑘

𝜕ℎ

𝜕𝑞𝑘
) −

𝜕𝑓

𝜕𝑝𝑖

𝜕

𝜕𝑞𝑖
(
𝜕𝑔

𝜕𝑞𝑘

𝜕ℎ

𝜕𝑝𝑘
−

𝜕𝑔

𝜕𝑝𝑘

𝜕ℎ

𝜕𝑞𝑘
)} 



=∑{
𝜕𝑓

𝜕𝑞𝑖

𝜕

𝜕𝑝𝑖
(
𝜕𝑔

𝜕𝑞𝑘

𝜕ℎ

𝜕𝑝𝑘
) −

𝜕𝑓

𝜕𝑞𝑖

𝜕

𝜕𝑝𝑖
(
𝜕𝑔

𝜕𝑝𝑘

𝜕ℎ

𝜕𝑞𝑘
) −

𝜕𝑓

𝜕𝑝𝑖

𝜕

𝜕𝑞𝑖
(
𝜕𝑔

𝜕𝑞𝑘

𝜕ℎ

𝜕𝑝𝑘
) +

𝜕𝑓

𝜕𝑝𝑖

𝜕

𝜕𝑞𝑖
(
𝜕𝑔

𝜕𝑝𝑘

𝜕ℎ

𝜕𝑞𝑘
)} 

∴  {𝑓{𝑔ℎ}} =∑{−(
𝜕ℎ

𝜕𝑝𝑘

𝜕2𝑔

𝜕𝑞𝑖𝜕𝑞𝑘
−

𝜕𝑔

𝜕𝑞𝑘

𝜕2ℎ

𝜕𝑞𝑖𝜕𝑝𝑘
+

𝜕ℎ

𝜕𝑞𝑘

𝜕2𝑔

𝜕𝑞𝑖𝜕𝑝𝑘
+

𝜕𝑔

𝜕𝑝𝑘

𝜕2ℎ

𝜕𝑞𝑖𝜕𝑞𝑘
)
𝜕𝑓

𝜕𝑝𝑖

+ (
𝜕𝑔

𝜕𝑞𝑘

𝜕2ℎ

𝜕𝑝𝑖𝜕𝑝𝑘
−

𝜕𝑔

𝜕𝑝𝑘

𝜕2ℎ

𝜕𝑝𝑖𝜕𝑞𝑘
−

𝜕ℎ

𝜕𝑞𝑘

𝜕2𝑔

𝜕𝑝𝑖𝜕𝑝𝑘
+

𝜕ℎ

𝜕𝑝𝑘

𝜕2𝑔

𝜕𝑝𝑖𝜕𝑞𝑘
)
𝜕𝑓

𝜕𝑞𝑖
}⋯(5.2.3 − 4) 

 

 


